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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
ASSIGNMENT TEST - OCTOBER 2011

MCU 1205 MICRO ECONOMICS

DURATION - TWO (02) HOURS

DATE: 18™ SEPTEMBER 2011 TIME: 10.00 AM — 12.00 NOON

Answer any two (02) questions.
All questions carry equal marks. _
Use of Non- Programmable Calculators are allowed

1) a)  Using Demand & Supply analysis, explain the impact of following given
situations on market conditions. Use illustrations to explain your answer.
1)  Price of leather goes up, market for leather shoes.

ii) Country is experiencing an extremely hot weather condition,
market for ice-creams.
~iif) The government has provided the fertilizer subsidy for coconut
growers, market for coconut.
iv) People expect the price of second hand motor vehicles to come
~ down in the future. Present market for second hand motor
vehicles.
v) A medical report has been released highlighting the harmful
impact of drinking bottled water, market for bottled water.
vi) Effective advertising campaign has been carried out highlighting
- harmful impact of eating bread, market for bread.

(24 marks)
b) Demand of Supply functions of product * x”, given as
Q,=42-3p 0. =-28+7p
Price in Rs. and quantity in 1000 units.
i) Find the equilibrium price & quantity (4 marks}
ii) . Suppose the government imposes a maximum legal price at
Rs.5/=, what will be the economic consequencesof this?
(7 marks}

iif)  Suppose the price of a substitute of good * x * has gone up and the
demand for product “x* has changed by 5 units. Find the new
equilibrium price and quantity. - (7 Marks)

€)  Suppose that the government has introduced a minimum legal wage.
How will this affect the labour market in the country? Use illustrations
to explain your answer. (8 Marks)

2) a) 1) What are the determinants of Price Elasticity of Demand.
(6 marks)



3)

i)

iii)

Suppose that the demand function of a product is given as;

: 0, =48-4p .
Find the price elasticity of demand at Rs. 8/=
(6 marks}

Suppose that the Price Elasticity of Product * x’ is 0.7 and product

‘y’ is 1.5. How can the revenue eamned from goods x and y can be
increased by changing the price of the relevant product? Use
illustrations to explain your answer.

(12 marks)

Suppose a product has a Perfectly Elastic Demand and its Supply
has a normal slope. How will the tax be shared between
consumers and suppliers when a tax is imposed on the supply?
Use illustrations to explain your answer.

(06 marks)

b) Using examples explain' how the Income Elésticity of Demand and Cross
Price Elasticity of Demand help a manager in making effective decisions.

(20 marks)

a) Explain the followings

1)

ii)

The law of Diminishing Marginal Utility
The law of Equi-Marginal Utility.
: (10 marks)

b) Using illustrations explain whether the following statements are ‘true’ or

“false’.

i)
ii)

iii)

ii)

s,

Indifference curves cannot intersect each other.
Consumer maximizes the satisfaction at the point where the
Indifference curve is tangent to the Budget line.
Slope of the indifference curve is equivalent to the ratio of
Marginal Utilities of the two goods in the :
combination.{Consider the two goods as “x” and “y™) -

(27 marks)

What is meant by Price Consumption Curve? Explain
Using illustrations explain how the demand curve of a good
can be derived from the Price Consumption Curve.
(13 marks)
Right Reserve
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